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These boats of Meeshohn - JWONT NNYXe2 I

Overview
X177 27 ruled that one may not carry more than m»X '7 in the boats of 7wn. There is a
dispute between "1 and M0N0 as to the nature of these boats.

nvoIN asks:
- WP 200NN MILP DY LYIaNT 7YY

There is a difficulty on >""@w92 who explains that the jw°17 Xn°%°2 were narrow on
the bottom -

= 19195 1713 Y2059 ) 991 71 1NAa DT DIVN NN NIVYA P11 DT 590 97
For just as they are excluded from the status of a 3''779, since they are not wide

four o°ndv by four o°ndY, so they should also be excluded from being a n%2=> -
= 7793 AN 599199 PNRT (x,1 91 NP P93 9INT

As the X3 states in the first p2p that there is no n*»%9> in an area less than 7"v7 -
= 59909 DIPN Y XY Y0199 5797 DIPN MM IRT SN MY 9DIP1 1339 Na HDIPNY

And the 3229 were lenient regarding a n°>»73 by attributing to it the leniency of a
“'";719, so that if there is an area of 7"v7 then it is a n¥o»=2 but if it is less than 7"v7
it is a MWD AIPA.

mooIn has an additional question on *"wA5:
= NINAHD MYNNN RNOY D239 N1 7NWNN NN T NI 7599 NI MY

And furthermore what did the 7271 27 ask, let us say 725172 nonR 713, what will be
accomplished that there will be partitions on the outside -

I xnxea 7"72.
2 The walls of the boats were slanted and were joined on the bottom, like our canoes. It seems (from many o°w19n [see
footnote # 9]) that this boat (even though it was extremely narrow by the keel, nevertheless) there is a space (above
the narrow bottom) which is 7"v7 with a height of v". See ‘Thinking it over’ # 1.
3 This can be found on 2,7 there.
4 An enclosed area of 7"y7 is a *"717 and if one transferers an object into it from the 2"77 he is 21, however if the
enclosed area is less than 7"v7 it is a 75 2p» and one is permiited to transfer from it to a 3"77 or a *"71 and vice
versa. The same rule applies to a n°7n73 that the 712771 MO°X from transferring to and from a n°>173 from a >"'71 or a
1"71 (and vice versa) is only if it is 7"¥7, but less than 7"¥7 it is a MW5 0pn and one may transfer in and out of a 2pn
LD to anywhere else.
5 The n"27 M1 amends this to read N1 X7 87 '7 (instead of N> '7).
6 In a 7D DWpn one is permitted to carry more than X", so why cannot they carry more than X"7 in the Jw n7 82
(see however 7"&77 owa X"2v™M).
" awonn nonx 13 literally means pull (713) down (n°nX) the partition (7%°nn). 1am1 21 asked since by the top of the boat
there is a 7"v7 01pn, let us utilize the concept of 7¥°m NNk T and draw down the outside walls of the boat so we will
have virtual walls that are v"> and a 7"v7 2pn till the bottom, so it will be considered a bona fide *"117. See 11"7 "W
R,
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Since on the inside there is no space of a 7"v7 area, so its usage is uncomfortable -
- 895959 HYYNNA NPITN N NN ) YO 18PAY NN 191

So the sides of the boat where it is narrow, negates the n\nxX 7 just like the
division with a mat, mentioned previously.

A final question on >"w"5:
= INDI NDT 22 DY N 7992918 239 112991 Y NIY T

And additionally; why do we need that he filled it with reeds and willows to make
it a °"11", even if he did not fill it with >127%1 *3p it should also be a >"7" -
- (x,ny 1 P2 PIN P92 INTI NN MY YN MININY 91957 19
For since he can fill them, it is considered a 5" even if he did not actually fill
them as >WwX 17 said in 11 poD -
= 10599495152 9519 IND 222 WHRNWMI 2791 1YY NIN Y INT DIUN
Regarding the case where he filled it completely with pegs that it is a "7 Dp»,
because if he wants he could place something on top of the pegs and use the space.

mooIn ask three (unrelated) questions on >"w:

1. If it is not a >"117 (because it is not 7"v7) it is not a N°2»13 either. 2. How can n°nx 713 make it into
a >"771 since the actual walls are 5van the nxnn. 3. Why do we need to actually fill the ship with
3127R1 1, the fact that it can be done is sufficient.

mooin offers his interpretation:
= D9)INA 79N NMIYYN MIVP MDD DN RNOEAT HNIIN 13939 WIY9D NN

8 x,7. The case there was regarding a pit which was 2°nov 1t (by ©"7 [making it a >"711]) and someone threw a mat from
the 1"717 into this 712 and it remained upright, thus dividing the pit into two parts, neither of which has o°rov 7"y7; the
rule is (according to »2aR) that if someone throws an object there from a 2"777 he is Mwd, for the nN¥nn is 0an the Mxnn.
We do not consider each half of the pit that it is encircled by the original walls (which would make it 7"¥7) but rather
we consider the n2x¥m» as negating the original walls and now each half of the pit contains an area which is bordered
by the n2¥n» which makes them each less than 7"y7 (the noxnn takes up some of the space). N1DOIN question is that
here too even if we were to draw down the walls of the boat, so on the outside we would have virtual walls of v"™
encircling an area of 7"v7 (the area of the top of the boat). However since the real walls of the boat are inside the
outside virtual walls, therefore the outside virtual walls are not enclosing an area of 7"¥7 since the inside real walls
make a new 17¥°1» so the space inside these real walls is less than 7"v7, just like the n2¥mn is Pvan the axonn. [If a noxnn
(which is a temporary 7¥°11) can be 202an real n¥°nn, so the real walls of the boat should surely be able to be 2van the
virtual walls of n°nx 71.]
% See X1 11"7 *"wn, that if he filled the bottom of the boat with >127X1 *1p until it reached the wider part of the boat
(which is 7"¥7) the boat is a *"711 (if the walls of the boat extend v"> above the *127% *3p [see footnote # 2]).
10 We see from there that even though as it stands now the space is not usable (because of the pegs), but nevertheless
since we can make it usable by placing a board over it, therefore it is considered a '7 D1p» even without placing the
board over it; the same should apply here since we can fill it with *127X1 "3 and then it would be a *"77, therefore it
should be a *"71 even without placing the 127X 137 there.
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And o0 prefers the s'n''9 explanation that Xn°x2 are small boats which are

made to go in the swamps -
- NSPYY 10D 2P DINN KYNA HY MAYNNY oY I

And because the travel over the water marshes they are called Xnv2°2 (marsh
boats) -
- OV 1P039) DN 029051 122 HHN YW D290 D90 MNYYN NYPIPI MI9T 0N W

And these boats have solid sides, but the bottoms are made of many planks, and

there is space between the planks and the water enters there between the planks -
= 09¥Y NYAVI NN TONNN IPARY 79 NNVYY NN D92 995 Na PavIN

And they sit in these boats as if they are in the water and it is made in such a

manner that even if it capsizes it will never sink (the wood must be very buoyant) -
= 772 NON 12 1PH0501 1PN 1159919995 13T A¥II9 NIAY 1129 XN 29 9IND)

And K197 21 ruled that since it is breached (there are spaces between the planks)

it has the status of a n°»%1> and one may not carry in it more than N '7 -
=730 NS HON 901 903 P2 PRY 1313 XIN 199N XD

And this rule applies only when there is no separation less than three 2°mov

between one plank and the other (there is a space of v"x or more between the planks) -
- 534 1255 73 MIND Y9N 9935 903 13 YO ON YaN

However if the space between the planks is less than three o°mov it is like 712%

(attached), and it is a >"7 -
— 1WA XY N2 19019 DINNY 23 Y IN)

And even though the water enters into the boat, we are not concerned and it is a
Ehby b [
= 1274 7313 5N PRV 19°09) RDT AN

And it seems to '01n the we are not 97 the following; ‘there is not four onoY
where it is less than three o°15v high’ —

n1voINn concludes:
$119192 HOHVY 395711 229N 2P HHNN DI NI INY

and if he filled the entire space in between the planks with 313981 %1p, so there is
no space of 0" between the planks, it is permitted to carry in the entire boat’.

11t is presumably a n*om73 since one is sitting in the water; which is a non73, so the boat is also a n*om73, there is
nothing substantial separating it from the water in which it is found.
12 This X071 is appropriate according to *"w7D (see 871 71"7 and 92X 77"7) that the sides slant inwards and become narrow;
however according to 1"19 the boat is 7"v7 from top to bottom. See w"X777 '01n who justifies this X077 even according
to the n"7o.
13 See ‘Thinking it over’ # 2.
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Summary
1w T RN°X"2 according to "W are canoe like boats, and according to '01n the bottom

planks of the boat are widely separated and water enters into the boat, which makes
them a n°%n>.

Thinking it over

1. mooIn asks on "o that just like it is not a *"'717 (since 7vYN? it is not 7"¥7), in the
same manner it is not a n°2»73 either. However there is a difference; a >"117 requires
mxonn, therefore since it narrows at the bottom it can be considered a 77%n 73 N
which would invalidate it from forming a >";17; however by n*175 there is no need
for mx>nn, so since we have a 7"v7 0pn higher up on the boat, it should be a n>5n15!1

2. moon ends that if he filled the spaces with 127X %3P it is 77192 Pu702 "mn. > Why
is it that when >"w1 explains that when filled it with >127X1 17 one may carry, N1501n
ask why do we need to fill it, being able to fill it is sufficient,'® so is not the same
question on Moo, why do we need to fill it?!!7

14 See nnx Now.
15 See footnote # 13.
16 See footnote # 10.
17 See n 5w naw.
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